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1. Problem Solving (PS) : ¥ - £ # 4%

2. Data Sufficiency(DS) : Fik e 4 &

DSBlFENEL 4 =3 g a4 » ¢ EAPTHREFE ST L AT AT R
FASAAL KA 5 B DSAEP #35- BRI FAEY A ¥ - el A

Tz a B #7 5(1)EQR) 4 F e ¥ 2 2 FAz(1)8(2)

ELFEBT EATARPYERAL 4% 2 L0 BEa FLT R w ERAL-

DS 47| % #
Ifnisaninteger and 100 <n<200, what is the value of n?
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1) % is an odd integer. EE -

2) 415 isan even integer. ¥t =
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Is x>67 | ¥ e
(1) x>8 e
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Is x<6? A B] 2 4e%k % 4 ~ Ifxisa positive integer # #%
(1) x>5

(2) x<10
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What is the value of x? [s x positive?
(1) x=2or -2 (1) x=2or -2
(2)x=2o0r5 (2)x=2o0r5
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(Isxy>0? Isxeven? Isx>0? Isxatleast10? Iss+t>s-t?)
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suffcent_y (D)
sufficient Check (2) \
/ insufficient (A)
Check (1)
\ sufficient
insufficient Check (2] e (B)
insufficient
l sy (C)
Check (1) +(2)

insufficient (E)

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.



